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Werkblad: Los de erbijsom en erafsom tot 20 op

In de mix

8§-7= 4-1= 4-1= 9+ 1=
6)(U(a)(2) (e)(3)(2)(a) (1)(s)(7)(3) (12)14)(7)(20)
5'1o+1: & 8+4= Z 7-4= 8.5—1:
15)14)13) 1) (3)(1)()(2) (4)(8)(3)(6)  (7)(4)(5)(3)
9. . 10.9+2: 11.8+6: 12_6+4:
Ws)(3)e)  (w)(3)(s)  (19)0s)(13)(s)  (13)(2)(6)(10)
13.9+5: 14.6_5: 15.9+2: l6.7+l:
16)(3)04)13) (3005 )(6)(1)  (19)(2)(6)(1)  (8)(10)(6)(12
l7.7+2: l8.6+4: l9.8+4: 20.4_02
(7)(a)(e)3) (14)(3)(1)00)  (4)(12)(16)15)  (9)(2)(4)(3)
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Werkblad: Los de erbijsom en erafsom tot 20 op |
ANTWOORDEN

In de mix

8-7=

(©))(e)(2)

10+1=

15)(14)(13) (12,

6+5=

11153 )6

13.

9+5=

SOIENEDIED)

17.

7+2=

DIOIOIE
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4-1=

()(3)(2)(e)

8+ 4=

EDIERIENED)

10.

9+2=

EEIDIENE)

14.

6-5=

0I0/0/6y

18.

6+4=

14)(3)(1)a0)
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4-1=

SO0

[ -4 =

D000

11.

8+6=

1415/ (13)(9

15.

O+2=

14)(2)(6 )11

19.

8+4=

(4)(32)(16)(15)

9+1=

12)(14)(7 (20

8.

H-1=

OI0IO0

12.

6+4=

13)(2)(6 )20

16.

T+1=

DIV

20.

4-0=

QIO



